i

&

A =
= A
Rrkil 3 F 484) 2RkE TEBHETF B4 - M
18 =] fERE
£AH H = IRAZE | XH%E TR
mEWEE| HHEE | KB | LKEE ;;QEE SHE ﬁﬂ«sﬁ%ﬁﬁﬁ%)\ﬁ ANGEE | BHTE |z
34.9 |BEEHE 90,000
B &t 90,000
2 B 90,000

¥ A4RRTRHLTIZELY,




=]

ekl 3 5A %) KRA AN Bfr - H
] 8 faRE
£HH nooE AR | ZiieE T
MEARE] THER | nHR | LER | oaga| SHE [ERGRMENEAN ANE | TREH|ses
A i
* &f 90,000

X A4RRTRHL TSN,



2 i ®

A

(##0 3% 6H%) RIRA fERmET By - M
L] 8 tiRE
£AA I RAHE | EHiE ST
MEGAE| BEE | KR | LBER | apw | S8R [ROGREEHUAN ALR | FHTER|ses

Bt
&t 90,000

X A4ERTIREBLTLESLY,

M o




Hp
i

S 3 & 1H57) 2R TEEBEF B o H
%88 nooR A% | g = 1 : e
mauns| GER | mEn | GBER | agn| SHR ENEREENEAN ARR | SHTE|sEs
3.7.9 |BBEHE 90,000
A & 90,000
2 &t 180,000

X A4RRTIRELTZELY,




A
= =
SH 3% 8RN SiR% (ALE g
1
88 mooE AgE | i F A T : -
mEwas| RER | SHE | BBER | apa | SHE EHERERSEAN AR | BBFR|ses
A i
# &t 180,000

X A4 TREL TS,




AN = 4

= &t & ;

= 3F 98 &) 2R% fEBEET Bi - M

%RH mooE AR | %t | = N H— : L
mEwan| FER | nER | GER |agnn | SHE [FHEREENEAN ARR |BBHFR|sEs

A &

% &t 180,000

X AARRTRHEL TSN,




2 i &

R

2F 34 1084%) £iR4 TEEHETF B . M
18 =] taRE
#8H N R URAZE | 58
mEwns] FER | LRR | LER |Capn | 262 EOCRREENAE AHE |SEmk|ses
3.10.8 | B EEE 90,000
A &t 90,000
2 it 270,000

X A4RRTIRHEL TS,




—
N
-,

= i & ;
B4 0 H

ek, 34 HAR) Sk% TEHHETF
By
| W & | WA | T . T . — "
mawns| FER | nEm | GER |Capm | SHE ENEAEEHEAN ARE |FBHTE|sEs
A &
* &t 270,000

X A4 TIRHEL TS,




=]

P
s

< 3 128%) =IRkA TEBHEF i 0 M
18 =i tBiRE
£AH 2] = IRAZE | %8
mEmEE| HEE | 5B | KEE 5§§J§ﬁ LHE ﬁ*ﬂ*ﬁﬁ%ﬁmﬂﬁ AEE | BB |52
H &t
2 it 270,000

X AARRTRHEL TS,




2 F % @

A

(= #0 44 18%) =Ik% fEIGHREF B - H
T8 B e
£R2H A = IR AZE | XHiEE T
MEMRE| R | R | BER | ana| BE RNCREZHBAE AGE |SERE|sss
417 |BRBEHE 90,000 |
4. 1. 2qEEHK 3,520 3,520 1
B &t 90,000, 3520 3,520
£ &t 360,000 3520 3,520

X A4RRTRELTESLY,



AN = A

= 5t & b

(&7 4% 284 R4 IEBHEF B - H

ZAR BB WA | %48 e —. s
HETRE| FER | LEE | LBE |aga | QB EAEREINEAY AKR | SEE |vee

427 |EESREERE 268,400 268,400 2

A &t 268,400 268,400

2 &t 360,000] 271,920 268,400 3,520

X A4RRTRBLTEEL,



AN = 4

= At R i

(£F0 44 3AH) HilRkB A1) B - H

£AR R WA | i I — s
mEGRK| FER | mHR | KRR |ana| S8E SHEREGHEAN AHE | BETE e

43. 21|EER 4,420 4,420 3

A & 4,420 4,420

2 &t 360,000 276,340 268,400 7,940

X AARR TR L TZE0LY,



